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FF SRt % % e fer
1 rE | B0 R /) $6,000 PEEK
2 | 324 | ¥ 0 & $3,000 PERK
3 24 | % 0 2 $2,000 PERK
4 425 | X 0 & $2,000 PERK
5 587 | m 0 % $3,000 PEERK
6 591 %= 0 4 $3,000 PR
7 | s | ®% 0 F $3,000 PEK
3 593 | 2 0 3 $3,000 PERK
9 55 | 2 0 4% $3,000 PERK
10 506 | % 0 = $3,000 PEER
11 600 | % 0 $3,000 PERK
12 603 | £ (0 % $3,000 PEER
13 607 | # 0 2 $3,000 PERK
14 609 | 3% 0 4 $3,000 PEER
15 610 | # 0 4% $3,000 PEERK
16 612 | 2 0 @ $3,000 DK
17 614 | & 0 $3,000 PERK
18 615 | ¥ 0 ¥ $3,000 PEER
19 616 | M 0 ¥ $3,000 PERK
20 617 | ¥ 0 & $3,000 PEER
21 619 | > 0 & $3,000 PERK
2 620 [ # 0 = $3,000 PEER




